Problem 1. {4 pts)

Let A=1{1,2,3} B = {24 6}
For each relation between A and B as a subset of A x B, state whether

it is a function from A to B, and if it is tell whether it is ope to ope or onto.
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Problem 2. (4 pts) Show Z* = {1,2,3,---} and the set E of even positive
integers have the same cardinality by giving a function g : Z* — E which
is a one to one correspondence. _Prove that g is a one to one correspondence.
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Problem 3. {4 pts) Let f: Z — Z be given by f(n) =2|3]

Is f one to one? Explain
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Is f onto? Explain.
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Problem 4. (4 pts)
a) Define f is O(g) § s O(‘E)] Y ere are  Con §tanty
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b) For the function g in your estimate of f is O(g) find a simple function
of smallest order for the estimate of
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